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Answers

1. D

2. D

3. A

4. C

5. C

6. C

7. B

8. B

9. A

10. A

Determine which choice shows the expression used to solve the problem.

1) Each room in a new house needs to have three outlets. If the contractor buys twenty-one outlets,
how many rooms are in the house?

A. 21 + 3 B. 21 - 3 C. 21 × 3 D. 21 ÷ 3

2) Luke was playing the ring toss at the carnival. All together he used forty-two rings. If each game
you get seven rings, how many games did he play?

A. 42 + 7 B. 42 - 7 C. 42 × 7 D. 42 ÷ 7

3) Katie was buying sodas for her and her friends. They needed four sodas, but Katie bought three
extra. How many did she buy?

A. 4 + 3 B. 4 - 3 C. 4 × 3 D. 4 ÷ 3

4) Carol was sending out birthday invitations to her friends. If each package of invitations she bought
had nine invitations in it and she bought four packs, how many friends can she invite?

A. 9 + 4 B. 9 - 4 C. 9 × 4 D. 9 ÷ 4

5) A pet store had six cages of snakes with nine snakes in each cage. How many snakes did the pet
store have total?

A. 6 + 9 B. 9 - 6 C. 6 × 9 D. 9 ÷ 6

6) John played three games of basketball with his friends. If John scored six points each game, how
many points did he score total?

A. 3 + 6 B. 6 - 3 C. 3 × 6 D. 6 ÷ 3

7) Oliver had thirteen old video games he was wanting to get rid of. If he gave his friend eight of the
games, how many does he still have?

A. 13 + 8 B. 13 - 8 C. 13 × 8 D. 13 ÷ 8

8) Emily brought nine pencils to class on the first day of school. By December she had used two
pencils. How many pencils does she still have?

A. 9 + 2 B. 9 - 2 C. 9 × 2 D. 9 ÷ 2

9) Frank was yard sale shopping. At the first yard sale he bought five video games. At the next yard
sale he bought three more. How many did he buy total?

A. 5 + 3 B. 5 - 3 C. 5 × 3 D. 5 ÷ 3

10) Ned was playing basketball with his friend. Ned scored two points and his friend scored three
points. How many points did they score total?

A. 2 + 3 B. 3 - 2 C. 2 × 3 D. 3 ÷ 2
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